ZT) MACHINING
CONDITIONS

CCMT 120412 NN LT 10

FT001776
, , DO.C Feed Amax Vo e
Material Material Hardness D.OC Feed
€Ly B minfmm]  maximm] minfmm/t] maxmm/A]  [mmA2]  min[m/min] [rr?rar:n] [mm] [mm#] [m/min]
125 HB 05 5 0.21 06 216 180 330 3 0.42 240
C35, Ckds,
Non Alloyed 1 1020, 1045, 190 HB 05 5 0.21 06 216 180 280 3 0.42 220
1060, 28Mn6
250 HB 05 5 0.21 054 18 180 250 3 0.42 200
230 HB 05 4 0.21 054 1.44 120 250 3 038 180
4120Mod, S50, 280HB 05 4 0.18 048 1.44 120 210 3 0.36 150
. Low Alloyed 2 Ck60, 4140,
% 4340,100C16 180 HB 05 5 0.21 054 1.44 120 280 3 0.38 200
350 HB 05 35 018 048 12 120 180 3 0.36 180
220 HB 05 4 0.18 048 1.44 70 190 25 0.36 140
X400IMOVS, 280 HB 05 4 0.18 048 1.44 70 150 25 0.36 120
HghAloyed 3  H13,M42, D3,
$6-5-2, 12Ni19 320 HB 05 3 0.18 042 096 70 180 25 0.34 100
350 HB 05 3 0.18 042 096 70 110 25 0.34 %
. 204,316, 180 HB 05 5 02 048 1.44 170 270 3 03 190
Al 4 XECrNI18-9
240 HB 05 5 02 048 12 160 220 3 0.26 170
3
oominpea,  20HB 05 4 0.18 042 096 80 150 25 0.29 100
% Duplex 5 331500
;% 310HB 05 4 0.18 042 096 70 140 25 0.29 %
oo & a0, 200 HB 05 5 0.18 048 0.84 170 250 25 0.24 190
Maxiensiic Eatia bt T 05 4 0.18 048 084 120 190 22 0.24 180
150 HB 05 5 015 072 24 170 250 3 0.42 200
GG20, GGA4O,
7 EN-GIL-250, 200 HB 05 5 0.15 072 216 160 230 3 0.42 180
NOSOB
250 HB 05 5 015 066 216 150 210 3 0.42 160
150 HB 05 5 015 06 18 120 250 3 0.36 180
GGG40,
8 |goartios| 200HB 05 5 015 06 1.56 120 230 3 0.36 160
250 HB 05 5 015 06 1.44 120 190 3 0.36 140
Incoloy 800 240 HB 05 3 02 042 084 30 50 2 0.34 a2
9 Inconel 700 250 HB 05 3 02 042 0.84 30 50 2 0.34 30
Stelite 21 350 HB 05 3 02 042 0.84 20 40 2 0.34 28
T40 ; 05 3 02 042 084 40 60 2 0.36 45
10
TiAlBV4 ; 05 4 02 048 096 50 70 2 0.4 56
G-X800CMo15 55 HRo 05 15 0.11 0.24 0.36 30 50 1 0.18 40
Ni-Hard 2 400 HB 05 2 011 03 048 40 60 15 0.22 50
11 45 HRo 05 25 011 036 072 50 100 2 03 80
X100CMo13,
440C, G- 50 HRc 05 2 0.11 03 0.48 40 % 15 0.24 70
X2B0NICr42
55 HRc 05 15 011 0.24 0.36 40 80 1 022 60
§
£ AEsxs) 12 ASi12 130 HB 05 6 02 072 216 200 400 3 0.48 280
=
2



